Atomic Energy Central School # 4, Rawatbhata

. Which one of the following is an action word?

a) sadly b)eat c) fluently

. To imitate someone means to

a) copy someone b) tease someone

c) make someone angry d) surprised someone
. Which part of the plant should be watered?

a) Root b) stem C) leaves

. Give another for thirsty feet.

a) wet flowers b)dry root C) dry thorn

10. Pick out the word with silent letter from tkesords.

a) boots b) cook C) learn
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MCQ Test—-4
Name of the student : Class-IVSec.
Roll No. MM :40 Date:15.12.2018 M.O.
1. Who is the poet of Hiawatha?
a) P.A. Ropes b) H.W.Longfellow
c) Margaret S.Russell d) Ruskin Bond
. Who was Hiawatha?
a) Young Red Indian boy b) American boy
) Indian boy d) Young Nepali boy
. Beavers live in
a ) nest b)stable c) kennel d) lodge
. Do you a secret?
a) no b)not c) know d) never
. Who came to Akbar’s court?
a) A learned Pundit b) Birbal c) Beggar d) Akbar’s relative

d) Akbar

d) flowers

lanches

d) hour
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21.What part of the whole is shaded? -

a) 1/2 b) 1/3 c) 3/4

22 Which figure shows halves ?
a) b C) d)

23. There are 60 blocks and % are green in colbaw. many blocks are green ?

a) 45 b) 15 c) 30 d) 20
24. Observe the pattern and tick the correct an8w
817 12Y 63X%-------------
a) 54Y b) 45W c) 36U ) B4W
25. Choose the next term out of the given altereatn the following pattern ?
D4, F-6 , H-8, J-10 ;—---

a) L-12 ,N-14 b) K-12 , M-14 c) A-12, M-13 d) L-12, M-14
26. Choose the number from the given alternatiieisiwcan replace the sign ( ? ) in the
following table . o5 29 33

21 25 29

17 21 25

13 17 21

? ? ?

a) 8,12,16 b) 9,13,17 c) 7,11,15 d) 11,15,19

27. Out of 36 people in a line for ice-cream ongarter want vanilla. how many people
want vanilla ice-cream ?

a) 12 b) 30 c) 24 d) 9

28. On arainy day 10 students got umbrellaghoal . What fraction of students got
umbrellas if the class has 40 students ?

a) 1/5 b) 3/4 c) 1/4 d) 2/4
29. Fill the missing number . 110, 220, 336-—
a) 110 b) 440 c) 420 ) 480

30. In a class of 60 students , 20 students coreehtool by bus. What fraction of
students come by bus ?

a) 1/3 b) 2/3 c) 1/4 d) 3/4
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31. Aninstrument use by both eyes at once

1. Microscope 2. Binocular 3. Telescope

32. Coppersmith bird is also called....

1. Barbetbird 2. Sunbird 3 Weaverbird

33. Raziya planned to clean the water by...

1. Using alum 2. Purifier 3. Boiling

34. Drinking polluted and dirty water can caussedse like

1. Diarrhoea 2. Heartache 3. Diabetes

35. Babloo’s house was on the --- floor

1. 13 2.12 3.15

36. The children panchayat of Holgundi village waBed

1. Bhima Sangh 2. Bhim Sangha 3. Bhima Singh

37. A common toilet is used by people living ie th

1. Slum 2. Village 3. City

38. A bird work in pairs while making nest

1. Robin bird 2. Weaver bird 3. Koel
39. An animal who has sharp and long teeth buvatlsw its prey

1. Cat 2. Snake 3. Cow
40. Appa said to the visitor that it would be bettgou do not drink this water because the

water was
1. Cool 2. Boiled 3. Dirty
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